S|~
N———

L _joh
Iy
Média de %:
n I, n L,
x5 ) X (%)
I, n - n
L =10log;, (ﬁ))
> (107 "o
— 10log,, | = — 101log;, ( (1018)> ~ 10logy, (n)
=1
Periodos:

1. Diurno (indice d) das 7 : 00 as 20 : 00
2. Entardecer (indice €) das 20 : 00 as 23 : 00
3. Noite (indice n) das 23 : 00 as 7 : 00
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13 Lg 3 Le 8 Ly
Laen = 101og;, (24 (1010)+24(10m)+24(10m>>

1 Lg Le Ly
Laen = 10logy, ﬂ(13x10w +3x 107 +8><1010)

Ha uma penalizacdo de 5 dB no entardecer e de 10 dB durante a noite, logo:

1 Ly Lets Ly +10
Laen = 101080 | 57 (13 % 1070 +3 x 1075 +8 x 10° )



